Differentials

$$f: \mathbb{K}^{n} \rightarrow \mathbb{K}^{m}.$$

$$f = (f_{1}, ..., f_{m}) \iff f_{1}, ..., f_{m}.$$

$$\frac{\hat{t}x}{t} \cdot (x_{1}, x_{2}) = \int \frac{x_{1} x_{2}}{x_{1}^{*} + x_{2}^{*}}, \quad (x_{1}, x_{2}) \neq (v, v)$$

$$o, \quad (x_{1}, x_{2}) = (v, v)$$

$$f(x_{1}, v) = o, \quad f(v), x_{2} = o.$$

$$\lim_{n \to 0} f(x_{1}, k_{n}) = \frac{k}{4 + k^{2}} \quad dstontiments \text{ at } (x_{1}, x_{0}) = (v, v),$$

$$\underbrace{\text{Def}}_{n \to 0} f(x_{1}, k_{n}) = \frac{k}{4 + k^{2}}$$

$$\lim_{h \to 0} \frac{f(x+h) - f(x)}{h} = 0 \text{ axists}$$

· Directional derivatives

$$\underbrace{f: \mathbb{R}^{2} \to \mathbb{R}^{2}}_{(X_{1}, X_{2}) \mapsto (X_{1}^{2}, x_{1}e^{x_{2}}, x_{1}x_{2})}$$

$$\underbrace{f: \mathbb{R}^{2} \to \mathbb{R}^{2}}_{(X_{1}, X_{2}) \mapsto (X_{1}^{2}, x_{2}e^{x_{2}}, x_{1}x_{2})}_{(X_{1}, X_{2}) \mapsto (X_{1}^{2}, x_{2})}, \underbrace{f: \mathbb{R}^{2} \to \mathbb{R}^{2}}_{(X_{1}, X_{2})} = \underbrace{f: \mathbb{R}^{2} \to \mathbb{R}^{2}}_{(X_{1}, X_{2})} = \underbrace{f: \mathbb{R}^{2} \to \mathbb{R}^{2}}_{(X_{1}, X_{2})}_{(X_{2}, X_{2})} = \underbrace{f: \mathbb{R}^{2} \to \mathbb{R}^{2}}_{(X_{1}, X_{2})} = \underbrace{f: \mathbb{R}^{2}$$

derivative of f at x exists. Then we define the Jacobi matrix as

Def. Let  $x \in U \subset \mathbb{R}^n$ , open set.  $f: U \Rightarrow \mathbb{R}^m$  be a function. Let  $v \in \mathbb{R}^n$  be a vector of length 1. ( $||v|| = d_2(v, o) = 1$ ). We define the directional derivative of f at x respect to v as  $Dv f(x) = \lim_{t \to v} \frac{f(x+tv) - f(x)}{t}$  $v = e_i = (o, ..., o, d, o, ...o)$ .  $De_i f = \frac{\partial f}{\partial x_i}$ 

 $\underbrace{f(x_i, x_i)}_{\mathcal{U}} = \begin{cases} 1, & x_i, x_i > 3, \\ 0, & \text{sther}. \end{cases}$ 



$$\lim_{h \to 0} \frac{f(x+h) - f(x)}{h} = \ell.$$
Linear function.
$$(\Rightarrow f(x+h) - f(x) = (th) + o(h).$$

L is called the differential of f at  $\pi_0$ ,  $L = Df_{\pi_0}$ .

 $\frac{\Pr p}{f} \cdot f : \mathcal{U} \neq \underline{k}^{m} \quad ||\mathcal{U}|| = 1 \quad x_{0} \leftarrow \mathcal{U}.$   $\frac{\mathcal{D}f_{x_{0}}(\mathcal{V})}{\mathcal{D}f_{x_{0}}(\mathcal{V})} = \frac{\mathcal{D}_{\mathcal{V}}f(x_{0})}{\mathcal{D}_{\mathcal{V}}f(x_{0})}.$   $||m| \quad ||f(x_{0} \leftarrow t_{0}) - \mathcal{D}f_{x_{0}}(t_{0})||$  = 2.



$$\langle \boldsymbol{i} \rangle$$

 $\mathcal{D}f_{xb}(v) = \mathcal{D}_{x}f(x_{b}).$ 

Cor

$$Df_{\infty}(h) = Jf(\infty) \cdot h$$

<u>Prop</u>. Assume f is differentiable at  $x_0$ , then f is continuous at  $x_0$  $f(x_0-h) - f(x_0) = Df(x_0(h)) - D(1(h)(1)) - D(h)$ 

$$\frac{Ex}{f(x_1, x_2)} = \int \frac{x_1 x_2^2}{x_1^2 e x_2^2} , \quad (x_1, x_1) \neq 0 \quad \text{ort } (x_1, x_2) = 0.$$

$$\lim_{h \to 0} \| \frac{f(h) - f(x,y) - (\overline{tf(x,y)}, h) |}{||h||} = \lim_{h \to 0} \frac{h_1 h_2^2}{h_1^2 + h_2^2} = \lim_{h \to 0} \frac{h_1 h_2^2}{(h_1^2 + h_2^2)^2} \quad dxesh' t exist$$

$$\underbrace{h_1 = kh_2} \qquad \lim_{h \to 0} \frac{kh_2^3}{(t_1 + k_2^2)h_2^2} = \underbrace{k}_{t_1 + k_2^2} \\
 \underbrace{f(x_{1,1}, x_{1})}_{0} = \begin{cases} \frac{x_1^2 x_2^2}{x_1^2 + x_2^2} \\ 0 \end{cases} \quad (x_{1,1}, x_{2}) = 0.$$

$$\frac{h_{1}^{2}h_{2}^{2}}{(\sqrt{h_{1}^{2}h_{2}^{2}})^{3}} = 2|h_{1}h_{2}| \leq h_{1}^{2}eh_{2}^{2}$$

$$\leq \frac{(h_{1}^{2}h_{2}^{2})^{2}}{(h_{1}^{2}eh_{2}^{2})^{\frac{1}{2}}} \sim (h_{1}^{2}eh_{2}^{2})^{\frac{1}{2}} \rightarrow 0.$$

<u>Thm</u>. Let  $f: U \rightarrow i \mathbb{R}^m$  be a function defined on an open set. Act If f has all partial derivatives on U, and they are all continuous at  $\kappa$ , then f is differentiable at  $\kappa$ .

$$\frac{F_{x}}{F_{x}} = \int x^{2} \sin \frac{1}{\pi} = x \neq 0 \qquad \text{at } 0.$$

$$\frac{\text{Def.}}{\text{Properties}} \text{ We say that } f \text{ is continuously differentiable at as if its} \\ \text{partial derivatives are continuous at as. (f G C4)} \\ \frac{\text{Properties}}{\text{Properties}} \frac{\text{f}}{\text{differentials}} \text{ and } \frac{\text{differentiatle functions.}}{\text{f}} \text{ (Operator norm)} \text{ Let } A \text{ be matrix in } Mn(UR). The operator norm of A is defined as} \\ \frac{\text{Pef.}}{\text{Norm }} \text{ (Operator norm)} \text{ Let } A \text{ be matrix in } Mn(UR). The operator norm of A is defined as} \\ \frac{\text{HA}|_{\text{sp}}}{\text{HA}|_{\text{sp}}} = \max_{u \neq 0} \frac{\text{HA}w|}{\text{Ha}u|} = \max_{u \neq 0} u|Aw||. \\ \frac{\text{dep}(A,B)}{\text{HA}|_{\text{sp}}} = \frac{\text{Max}}{u \neq 0} \frac{\text{HA}w|}{u \neq 0} \text{ (Implements)} \text{ (Implements)} \text{ (Implements)} \text{ at } x_{0} \iff \text{Tf}: U \Rightarrow Ma(UR) \text{ is continuous} \\ \text{at } x_{0} = (\max_{u \neq 0} |a| + |a| +$$

• Chain Rule  
Thm. 
$$f: U \rightarrow V', g: V \rightarrow ik^{k}$$
.  $f$  is differentiable at  $\alpha_{0}$ .  $g$  is  
differentiable at  $f(x_{0})$ . Then  $g \rightarrow f$  is differentiable at  $\alpha_{0}$ , and  
 $D(g \rightarrow f)_{\alpha_{0}} = Dg_{f(\alpha_{0})} \circ Df_{\alpha_{0}}$   
•  $U(g \rightarrow f)(\alpha_{0}) = Ug(f(\alpha_{0}) \circ Uf(\alpha_{0}))$   
 $f(\alpha_{0} + f) - f(\alpha_{0}) = Df_{\alpha_{0}}(\beta + \sigma)U(\beta + f)$   
 $g(f(\alpha_{0} + f)) - g(f(\alpha_{0})) = Dg_{f(\alpha_{0})}(f) + OU(\beta + f)$   
 $g(f(\alpha_{0} + f)) - g(f(\alpha_{0})) = Dg_{f(\alpha_{0})}(f) + OU(\beta + f)$   
 $g(f(\alpha_{0} + f)) - g(f(\alpha_{0})) = Dg_{f(\alpha_{0})}(f) + OU(\beta + f)$   
 $g(f(\alpha_{0} + f)) - g(f(\alpha_{0})) = Dg_{f(\alpha_{0})}(f) + OU(\beta + f)$   
 $g(f(\alpha_{0} + f)) - g(f(\alpha_{0})) = Dg_{f(\alpha_{0})}(f) + OU(\beta + f)$   
 $g(f(\alpha_{0} + f)) - g(f(\alpha_{0})) = Dg_{f(\alpha_{0})}(f) + OU(\beta + f)$   
 $g(f(\alpha_{0} + f)) - g(f(\alpha_{0})) = Dg_{f(\alpha_{0})}(f)$ 

Then (Leibniz or product rule). f, g are differentiable at  $x_{3}$ . Then fg is differentiable, and  $D(fg)_{x_{3}} = Df_{x_{3}}g + f Dg_{x_{3}}$ .

$$\underbrace{\operatorname{En}}_{\mathcal{H}}, \quad \underbrace{\operatorname{h}(x_{1},x_{2}) = \left(\begin{array}{c} e^{x_{1}s_{1}s_{1}x_{2}}, & \operatorname{h}(x_{1},x_{2})\right), \quad U = f(x_{1},x_{2}): a_{1}x_{2} > s\right),}_{J\operatorname{h}(x_{1},x_{2})}$$

$$\int \operatorname{h}(x_{1},x_{2}) = \left(\begin{array}{c} s_{1}s_{1}s_{2} & e^{x_{1}s_{1}s_{2}x_{2}} & a_{1}c_{2}s_{2} & e^{x_{1}s_{1}s_{2}s_{2}} \\ \frac{4}{x_{1}} & \frac{4}{x_{2}} \\ \end{array}\right)$$

$$f(x_{1},x_{2}) = \left(\begin{array}{c} s_{1}s_{1}s_{2}, & a_{1}s_{2} \\ \frac{4}{x_{1}}, & \frac{4}{x_{2}} \\ \end{array}\right)$$

$$f(x_{1},x_{2}) = g_{2}f(x_{1},x_{2}), \quad g(y_{1},y_{2}) = (e^{y_{1}}, hy_{2})$$

$$= \left(\begin{array}{c} h(x_{1},x_{2}) = g_{2}f(x_{1},x_{2}) \\ \frac{1}{x_{2}} & a_{1} \\ \frac{1}{x_{2}} \\ \end{array}\right)$$

$$\int \operatorname{h}(x_{1},x_{2}) = g_{2}f(x_{1},x_{2}), \quad f(x_{1},x_{2}) \\ \int \operatorname{h}(x_{1},x_{2}) = Jg(f(x_{1},x_{2})), \quad ff(x_{1},x_{2}) \\ \frac{1}{s} \\ \frac{1}{s$$

<u>Cor</u> (MVT)  $U \subset \mathbb{R}^n$  open set.  $f : U \to \mathbb{R}$  be a differentiable fun. Let  $U, v \in U$  be such that  $t_{U,v} = U$ . Then there exists a constant  $c \in (u,v)$  such that

$$f(u) - f(v) = Jf(v) \cdot (u - v).$$

 $\frac{Pf}{t} = \frac{\psi}{\tau} = \frac{1}{\tau} \frac{\varphi}{\tau} = \frac{1}{\tau} \frac{\varphi}{\tau} = \frac{\varphi}{\tau} = \frac{\varphi}{\tau} \frac{\varphi}{\tau} = \frac{\varphi}{$ 

 $\frac{\mathcal{E}_{0}}{\mathcal{K}} = \begin{cases} \overline{f}: \overline{u}(2\overline{z}) \rightarrow |k|^{2} \\ x \mapsto \left( \frac{ug_{v}}{gi_{n}x} \right) \\ \overline{v} = \left( \frac{-gi_{v}}{ug_{x}} \right) \\ \overline{v} = \left( \frac{-gi_{v}}{ug_{x}} \right) \\ \overline{v} = \int f(z) \rightarrow |z| \\ \overline{v} = \int f(z) \rightarrow |z| \\ \overline{v} = \int f(z) \rightarrow |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\ \overline{v} = \int f(z) - \int f(z) |z| \\$ 

$$\|f(u) - f(v)\| \leq \sup_{c \in (u,v)} \|Jf(c)\|_{op} \|u - v\|.$$

$$\frac{pf}{l} = \sqrt{(f_{l}(u) - f_{l}(v))^{2}} - + (f_{l}(u) - f_{o}(v))^{2}}$$

$$\frac{\phi(s) - \phi(s) - f_{l}(v)}{\phi(s) - f_{l}(s) - f_{l}(v)}$$

$$\frac{\phi(s) - \phi(s) - f_{l}(v)}{\phi(s) - f_{l}(v) - f_{l}(v)}$$

$$\frac{\phi(s) - h(s) - f_{l}(v)}{\phi(s) - h(s) - f_{l}(v)}$$

$$\frac{\phi(s) - h(s) - h(s)}{f(s) - h(s) - h(s)}$$

 $\frac{Def}{P}$  Let U be a subset of  $\mathbb{R}^n$ . We say that U is path-connected if for every two points P and Q in U there exist finite sequence  $P = x_0, x_1, \dots, x_k = Q$ ,

of polints of U such that segment TXi, Ni41] is contained in U



(or  $Df_{x=0}$ ,  $\forall x \in U$ . U path-connected. Then f = const. in U $\forall p, a \in U$ ,  $P = x_0, x_{i+1}, x_k = a$ .

$$\|f(p) - f(z)\| \leq \|f(p) - f(x_0)\|_{\ell^{-1}} + \|f(x_0 - f(z))\|_{\ell^{-1}}$$
$$\leq O \|p - x_0\|_{\ell^{-1}} + O \cdot \|x_0 - z_0\| = 0, \quad \#,$$

Def. (Convex set). We say that a set is comex if for every two points P and Q, the segment CP, 2] is contained in the set. (Lor  $Df_x = s$  in a convex set U = f = const. in U.

· domain : connected, open set